As from 1st of January 2013, the contribution is calculated as follows:

Petrol vehicles

e CO2 emission known: [(( CO2 emission in g/km x 9 EUR) - 768) : 12] x 1.1920 with a
minimum of 24.83 EUR per month

e CO, emission unknown: [(( 182 x 9 EUR) - 768) : 12] x 1.1920 = 86.42 EUR

Diesel vehicles

e CO, emission known: [(( CO, emission in g/km x 9 EUR) - 600) : 12] x 1.1920 with a
minimum of 24.83 EUR per month

e CO, emission unknown: [(( 165 x 9 EUR) - 600) : 12] x 1.1920 = 87.91 EUR

CNG vehicles

e [((CO2 emission in g/lkm x 9 EUR) - 990) : 12] x 1.1920 with a minimum of 24.83 EUR
per month

LPG vehicles

e [((CO2 emission in g/lkm x 9 EUR) - 990) : 12] x 1.1920 with a minimum of 24.83 EUR
per month

Electric vehicles

e 24.83 EUR per month

The formulas mentioned above are on an annual basis: you need to divide the outcome by 12
to arrive at the monthly amounts.



